
Installation Guide

PH: 1800 3282 00  |  FAX: 1800 3282 39  |  EMAIL: sales@legend.com.au  |  WEBSITE: www.legend.com.au

2-POST Open F rame Rack Assembly Instruction

04 01

Packaging List

1. Vertical rail - 2pcs
2. Horizontal beam - 2pcs
3. Plinth - 2pcs
4. 2" heavy-duty castor (2 with brake)  - 4pcs

Step 3:Assembly the frame and plinth by 8 sets M6*12 screws 
and M6 flange nuts.

Note:After assembly,please adjust the diagonal size of the 
cabinet to ensure homogeneous space for all doors and all 
doors work well.

1

2

3

4

2-POST Open F rame Rack Assembly Instruction

04 01

Packaging List

1. Vertical rail - 2pcs
2. Horizontal beam - 2pcs
3. Plinth - 2pcs
4. 2" heavy-duty castor (2 with brake)  - 4pcs

Step 3:Assembly the frame and plinth by 8 sets M6*12 screws 
and M6 flange nuts.

Note:After assembly,please adjust the diagonal size of the 
cabinet to ensure homogeneous space for all doors and all 
doors work well.

1

2

3

4

2-POST Open F rame Rack Assembly Instruction

04 01

Packaging List

1. Vertical rail - 2pcs
2. Horizontal beam - 2pcs
3. Plinth - 2pcs
4. 2" heavy-duty castor (2 with brake)  - 4pcs

Step 3:Assembly the frame and plinth by 8 sets M6*12 screws 
and M6 flange nuts.

Note:After assembly,please adjust the diagonal size of the 
cabinet to ensure homogeneous space for all doors and all 
doors work well.

1

2

3

4



Installation Guide

PH: 1800 3282 00  |  FAX: 1800 3282 39  |  EMAIL: sales@legend.com.au  |  WEBSITE: www.legend.com.au

www.safewellcabinet.com www.safewellcabinet.com77 78

Components of SRA Series 2-Post Open Frame Rack

Main Dimension

2

1

3

4

Easy and quick position of equipment with U mark and square 

hole for cage nuts.

Castors provide easy moving and displacement.

Features

BA

Specifications

SRA series 2-post frame rack

SRA6622

S R A   6  6  22

Width 600mm

Depth 600mm

Height 22U

How to Define Our Model

Note:

Material:
SPCC Cold Rolled Steel 

Color:

RAL9005 RAL7035

Shelf················Page84

Model
SW2P1USHELF-300

SW2P1USHELF-350

SW2P2USHELF-300

SW2P2USHELF-350

Description

450mm depth wall mount cabinet,

2-post open frame rack

Description
Double side shelf 

Compatible accessories for SRA 2 post open frame rack

Note: Other regular 19 inch accessories which is used to all racks(shelf,cable manager,fan,blank panel,patch panel and PDU),please refer to 

page 83 to page 94.

OPEN FRAME RACK

O
p

e
n

 F
ra

m
e

 R
a

c
k

Model
SW2P2USHELFCM450o

O
p

e
n

 F
ra

m
e

 R
a

c
k

www.safewellcabinet.com www.safewellcabinet.com77 78

Components of SRA Series 2-Post Open Frame Rack

Main Dimension

2

1

3

4

Easy and quick position of equipment with U mark and square 

hole for cage nuts.

Castors provide easy moving and displacement.

Features

BA

Specifications

SRA series 2-post frame rack

SRA6622

S R A   6  6  22

Width 600mm

Depth 600mm

Height 22U

How to Define Our Model

Note:

Material:
SPCC Cold Rolled Steel 

Color:

RAL9005 RAL7035

Shelf················Page84

Model
SW2P1USHELF-300

SW2P1USHELF-350

SW2P2USHELF-300

SW2P2USHELF-350

Description

450mm depth wall mount cabinet,

2-post open frame rack

Description
Double side shelf 

Compatible accessories for SRA 2 post open frame rack

Note: Other regular 19 inch accessories which is used to all racks(shelf,cable manager,fan,blank panel,patch panel and PDU),please refer to 

page 83 to page 94.

OPEN FRAME RACK

O
p

e
n

 F
ra

m
e

 R
a

c
k

Model
SW2P2USHELFCM450o

O
p

e
n

 F
ra

m
e

 R
a

c
k

www.safewellcabinet.com www.safewellcabinet.com77 78

Components of SRA Series 2-Post Open Frame Rack

Main Dimension

2

1

3

4

Easy and quick position of equipment with U mark and square 

hole for cage nuts.

Castors provide easy moving and displacement.

Features

BA

Specifications

SRA series 2-post frame rack

SRA6622

S R A   6  6  22

Width 600mm

Depth 600mm

Height 22U

How to Define Our Model

Note:

Material:
SPCC Cold Rolled Steel 

Color:

RAL9005 RAL7035

Shelf················Page84

Model
SW2P1USHELF-300

SW2P1USHELF-350

SW2P2USHELF-300

SW2P2USHELF-350

Description

450mm depth wall mount cabinet,

2-post open frame rack

Description
Double side shelf 

Compatible accessories for SRA 2 post open frame rack

Note: Other regular 19 inch accessories which is used to all racks(shelf,cable manager,fan,blank panel,patch panel and PDU),please refer to 

page 83 to page 94.

OPEN FRAME RACK

O
p

e
n

 F
ra

m
e
 R

a
c
k

Model
SW2P2USHELFCM450o

O
p

e
n

 F
ra

m
e
 R

a
c
k

Dimensions



Installation Guide

PH: 1800 3282 00  |  FAX: 1800 3282 39  |  EMAIL: sales@legend.com.au  |  WEBSITE: www.legend.com.au

Step 1:  Assembly vertical rails and horizontal beams to form the frame 
with16 sets M6*12 screws and M6 flange nuts.

Step 2: Assembly the castors on the Plinths by 16 sets M6*12 screws 
and M6 flange nuts.

02 03

NO.

1

2

4

3

M6 flange nut

M6*12 Screw

M6 cage nut 

Diagram of accessories

DESCRIPTIONFIGURE

Installation

End User Hardwares Kits:
U Capacity ≤27U, 20 sets cagenuts ; 27U＜U Capacity ≤37U, 
30sets cagenuts ; U Capacity ＞37U, 40 sets cagenuts.
(cagenut : M6*12 screw & M6 cage nut)
Tips: Check the quantities of the items before assembly

2" heavy-duty castor

Item List of Accessaries Packaging 
Assembly Hardwares Kits:

• M6*12 screw - 40pcs
• M6 Flange nut - 40pcs
• 2" heavy-duty castor -2pcs
• 2" heavy-duty castor with brake -2pcs

5

2" heavy-duty castor with brake

with brake



Installation Guide

PH: 1800 3282 00  |  FAX: 1800 3282 39  |  EMAIL: sales@legend.com.au  |  WEBSITE: www.legend.com.au

Step 1:  Assembly vertical rails and horizontal beams to form the frame 
with16 sets M6*12 screws and M6 flange nuts.

Step 2: Assembly the castors on the Plinths by 16 sets M6*12 screws 
and M6 flange nuts.

02 03

NO.

1

2

4

3

M6 flange nut

M6*12 Screw

M6 cage nut 

Diagram of accessories

DESCRIPTIONFIGURE

Installation

End User Hardwares Kits:
U Capacity ≤27U, 20 sets cagenuts ; 27U＜U Capacity ≤37U, 
30sets cagenuts ; U Capacity ＞37U, 40 sets cagenuts.
(cagenut : M6*12 screw & M6 cage nut)
Tips: Check the quantities of the items before assembly

2" heavy-duty castor

Item List of Accessaries Packaging 
Assembly Hardwares Kits:

• M6*12 screw - 40pcs
• M6 Flange nut - 40pcs
• 2" heavy-duty castor -2pcs
• 2" heavy-duty castor with brake -2pcs

5

2" heavy-duty castor with brake

with brake



Installation Guide

PH: 1800 3282 00  |  FAX: 1800 3282 39  |  EMAIL: sales@legend.com.au  |  WEBSITE: www.legend.com.au

2-POST Open F rame Rack Assembly Instruction

04 01

Packaging List

1. Vertical rail - 2pcs
2. Horizontal beam - 2pcs
3. Plinth - 2pcs
4. 2" heavy-duty castor (2 with brake)  - 4pcs

Step 3:Assembly the frame and plinth by 8 sets M6*12 screws 
and M6 flange nuts.

Note:After assembly,please adjust the diagonal size of the 
cabinet to ensure homogeneous space for all doors and all 
doors work well.

1

2

3

4

2-POST Open F rame Rack Assembly Instruction

04 01

Packaging List

1. Vertical rail - 2pcs
2. Horizontal beam - 2pcs
3. Plinth - 2pcs
4. 2" heavy-duty castor (2 with brake)  - 4pcs

Step 3:Assembly the frame and plinth by 8 sets M6*12 screws 
and M6 flange nuts.

Note:After assembly,please adjust the diagonal size of the 
cabinet to ensure homogeneous space for all doors and all 
doors work well.

1

2

3

4


